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# antar vi her beregnet andel mislighold fra faor
from sklearn.linear_model import LogisticRegression

model = LogisticRegression()

fit = model.fit(datal[["balance"]], data["default"])
print("Coefficients: ", model.coef_)
print("Intercept: ", model.intercept_)

beta0
betal

model.intercept_[0]
model.coef_ [0][0]

def sigmoid(x, beta@, betal):
z = beta@+betalxx
return np.exp(z)/(1+np.exp(z))

data.plot.scatter("balance", "default")
plt.plot(x[:-1], andel_mislighold)
plt.plot(x, sigmoid(x, beta®, betal))
plt.savefig("default.png", dpi=300)
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# antar vi her beregnet andel mislighold fra faor
from sklearn.linear_model import LogisticRegression

model = LogisticRegression()

fit = model.fit(datal[["balance"]], data["default"])
print("Coefficients: ", model.coef_)
print("Intercept: ", model.intercept_)

beta0
betal

model.intercept_[0]
model.coef_ [0][0]

def sigmoid(x, beta@, betal):
z = beta@+betalxx
return np.exp(z)/(1+np.exp(z))

data.plot.scatter("balance", "default")
plt.plot(x[:-1], andel_mislighold)
plt.plot(x, sigmoid(x, beta®, betal))
plt.savefig("default.png", dpi=300)
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